
SAP ABAP table /BEV1/EMLGBWDK {Customer Empties Movement - Lock Object}

_BEV1_EMLGBWDK

MANDT [CLNT (3)]

KTOINH [CHAR (10)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]
 /BEV1/EMLGBWDK-KTOINH = KNA1-KUNNR 0..N

1

TSPA

MANDT [CLNT (3)]

SPART [CHAR (2)]

 /BEV1/EMLGBWDK-SPART = TSPA-SPART 
0..N

1

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 /BEV1/EMLGBWDK-VKORG = TVKO-VKORG 

0..N

1

TVTW

MANDT [CLNT (3)]

VTWEG [CHAR (2)]

 /BEV1/EMLGBWDK-VTWEG = TVTW-VTWEG 

0..N

1


